[Name:

Class/Set:

Expanding over one bracket

www.mathsprint.co.uk

1. Multiply out and simplify the following:
ao6b+1)=_ b) 10(5u + 5) =
d3¢4n+8=____ €) 8(y+8) =

C) 7(4v + 4) =
f) 6(6a + 5) =

2: Multiply out and ssimplify the following:
a) 2(7p + 8) + 6(2p + 8) b) 3(10t + 8) + 10(10t + 10)

d) 10(4h+9) + 109 +8) &) 2(6m+9) + 5(m + 1)

C) 5(7x + 8) + 7(8x + 3)

f) 3(3j + 8) + 2(10j + 2)

3: Multiply out and simplify the following:
a) 2(29+8) - 5(7q+9) b) 9(9f +4) - 6(10f + 3)

d) 6(10r +1) - 7(8r + 8) €) 6(3c+5) - 8(4c+5)

C) 9(w+5)- (4w + 2)

f) 410z + 2) - 3(6z+2)

4: Multiply out and simplify the following:
a) 9(6s+1) - 4(6s+7) b) (6k + 10) + 8(6k + 8)

c) 3(4g +5) + 9(8g + 9)
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d) 5(10e + 9) - 7(3e+2) €) 4(9u + 2) + 10(u + 10) f) 10(6a + 3) - (9a+3)

5: Multiply out and ssmplify the following:

a) 5(7n- 5) = b) 2(- 10v + 8) =
c) 4(5x - 9) = d) 10(- 9r +5) =
e9(-7b-7n=____ f)8(-j+4) =

6: Multiply out and ssimplify the following:

a) - 9(- 4w + 6) = b) - (- 8f - 9) =
0)-3(-9c- 1) = d) - 10(- 5h - 3) =
§-44m-2)=__ f)-8(-8e- 3) =

7: Multiply out and ssimplify the following:
a) 3(9k +4) +5(2k - 4) b) 5(3s+ 5) + 3(8s- 6) c) 3(6g + 10) + 5(6g - 3)

d)7(7p- 7) +2(9p + 4) e) 7(10t - 10) +4(7t- 9) f) (By- 6) +7(2y + 3)

8: Multiply out and ssimplify the following:
a) 6(9z- 6) - 8(4z+5) b) (29 + 3) - 6(49- 8) c) 10(j + 10) - 5(4j - 6)
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d) 8(u- 7)- 9(2u+6) e) 10(7x - 1) - 7(6x- 10) f) 2(5w+6) - 7(8w - 8)

9: Multiply out and ssimplify the following:

a) - 6(- 5f +5) +6(- of - 10) b) (- 2m+6) + 9(- 5m- 2)
c) 3(-5g - 8) +2(- 8g + 6) d) -2(4v- 8) +4(-10v+7)
€)-6(9s- 2)- (-7s- 9) f)y-7(-6r- 4)- 3(3r- 5)

10: Multiply out and simplify the following:

a) 7c(8c- 3) = b) 5a(3a + 1) =
c) 6e(10e- )= d) 2y(-7y- 6) =
e4an(-on+3)=__ fy3q(7q- 2=

11: Multiply out and simplify the following:

a) 8k(6k + 8h) = b) 9z(7z + 8b) =
C) 2p(9p - 7t) = d) 5¢(7c- 8v) =
€) 10m(8m + 9u) = f) 6s(-s- 3r) =
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Answers. Expanding over one bracket
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1. a54b+9 b)50u+50 ¢)28v+28 d)12n+24 ¢€)8y+64 f) 36a + 30
2. @) 26p+64 b) 130t + 124 c) 91x + 61
d) 130h + 170 €) 17m+ 23 f) 29j + 28
3 a)-31q- 29 b) 21f + 18 c) 5w + 43
d) 4r - 50 €) -14c- 10 f) 22z + 2
4. a) 30s- 19 b) 54k + 74 C) 84g + 96
d) 29e + 31 e) 46u + 108 f) 5la + 27
5. a) 35n- 25 b) - 20v + 16 c) 20x - 36
d) - 90r + 50 e) - 63b- 63 f) - 8j +32
6: a) 36w- 54 b) 8f +9 C) 27c+3
d) 50h + 30 €e) - 16m+ 8 f) 64e + 24
7. a 37k- 8 b) 39s + 7 c) 48g + 15
d) 67p - 41 €) 98t - 106 f) 19y + 15
8 a)22z- 76 b) - 22g + 51 c) - 10j + 130
d) - 10u - 110 €) 28x + 60 f) - 46w + 68
9 a)-24f - 90 b) - 47m- 12 c)-31g- 12
d) - 48v + 44 e) - 47s+21 f) 33r +43
10: a) 56¢° - 21c b) 15a° + 5a C) 60€’ - 6e
d) - 14y* - 12y e) - 36n* + 12n f) 21 - 6q

11: @) 48K2 + 64kh
d) 35¢* - 40cv

b) 637 + 722b
e) 80nT + 90mu

c) 18p° - 14pt
f)-68- 185
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